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1) a=2,b=-1 OLE WOKXDEZERD 2 IV,
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a/2+8/a-5/b
2) WoOA&EREBELZ I,

(3x + 5y)(3x — 5y)
(3x+by) (3x-5y)

3) D2 WX EMEII W,

x% —46x+528=0
X" 2-46x+528=0

a’? + 2ab + b?

a"2+2ab+b”"2

(a+ b+ 3)?
(a+b+3) "2

(x +3)? = 4x + 57
(x+3) "2=4x+57

4) WOEN TR E RS0,

{15x—2y= 0
7x— y=-1

{¥egarray (15x-2y=007x-y=-1) ¥close

{¥eqarray (15&x&-8&28&y&=8007&x&-8&&y&=&-1) ¥close
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1
-(x+y)=x-5
2
{¥Yegarray (1/3 1 x+1/7 0 y=00¥emsp 1 1/25 (x+y)=x-5) ¥close
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QWHTR x2+ax+b=0 OMN x=-2+5 O, albDfEERD 7SI,
x"2+ax+b=0 x=—2+-¥sqrtmb

6) KOFHHRZ LRIV,

VZ(vz -1 V108 =3

¥sqrt 200 (¥sqrtli2-¥sqrt10/4 1) ¥sartl1108¥divi ¥sqrti 3



